2023%E BAART7IFLT7INIT7—XEFE-MRRBEROBER)

EEE] 5816H (X). 17H (K)

FREI—R |IIURA—9T7LAVY—XO2—X(EEER) 7,009YardsPar72

HiZ A (1724
JE{Z K4 FEHFI—X ouT IN GROSS
1 B FX =R 36 33 69
2T AR FkKR 4yay7° 36 35 71
2T Kffi BB VAG4—A 35 36 71
2T IWE BEZ T dt#pE 34 37 71
2T KFE #ER RE/& 34 37 71
6T NI ANTANT 38 34 72
6T ¥AH EHE KB 7Yyh 36 36 72
6T leh R HEAKIE 35 37 72
9T HE {3# HERDFE 39 34 73
oT =t BBZHR 25 0hUM)- 39 34 73
9T A0 = PR 38 35 73
12T FHE ICK 4yay7° 40 34 74
12T Flr K2 KET LI 39 35 74
12T EERT L E 39 35 74
12T INE BT SN T vl 39 35 74
12T FE #t YRDIYP, 38 36 74
12T bk Zi 4V t=h 37 37 74
12T mxX K% t#pE 36 38 74
19T BE WE I—hA—L 39 36 75
19T JR $XKER I—b-A—) 38 37 75
19T EEIEG =L+ 37 38 75
19T R BRE 4yay7’ 37 38 75
19T BAR FEIER SN Tyl 37 38 75
19T Tk 1E BUET)Y 36 39 75
19T e #AK fif] Ly Z2 & 36 39 75
26T EIET =L+ 40 36 76
26T R FKER FEEHAY-F 39 37 76
26T AN 4yay7° 39 37 76
26T g SRR 7<= 39 37 76
26T ML —& SN Tyl 35 41 76
26T g KiE 7< B = 34 42 76
32T "B =R 42 35 77
32T EA K 4yay7° 39 38 77
32T AE BEEZ FEEHAY-F 39 38 77
32T Bt R Pl ) 39 38 77
32T TN EEH 38 39 77
32T FiE oK 4IuNt=h 38 39 77
32T HLE #EK =R 38 39 77
32T HE E— t#pE 37 40 77
32T Bl R £#H2Y 37 40 77
32T B ZEA Pl ) 36 41 77
32T E TS RAKIE 36 41 77
43T HEE KM t#pE 40 38 78
43T =+ 5yny7° 39 39 78
43T 4% Bx =R 39 39 78
43T Z2H K& J—b 39 39 78
43T FHih &3l 5yny7° 39 39 78
43T Z BiE ATANTY 37 41 78
43T Al BE 4yay7’ 37 41 78
43T ZIR SN TYyh 34 44 78
51T B FH pNOWATY 42 37 79
51T BEA F5A LAY 41 38 79

1/3R=Y




51T BRE HEE ANTRANINT 41 38 79
51T TH AR EITEEES 41 38 79
51T e BET)Y 39 40 79
51T Zg Bz =)k 38 41 79
57T SH —iE HLENT Y 42 38 80
57T WA 1EX HIRDFZ 41 39 80
57T = JIuNt=h 41 39 80
57T B¥ Eim FEEINT 41 39 80
57T AR &% 1€ [E] ER 40 40 80
57T D #—EBR USSP ] 40 40 80
57T IBlE R DI ] 40 40 80
57T F KA ENIYATY 40 40 80
57T ¥ I5E #pE 39 41 80
57T ZHF E£5R KET LT 36 44 80
67T 2R B8 < ERE 44 37 81
67T =8 BX £HOY 42 39 81
67T IMNE  fE3C < ERE 41 40 81
67T FE EE &Ny 41 40 81
67T I+ EER N UYLV 41 40 81
67T AP ST 4yay7 41 40 81
67T K B BERmR 40 41 81
67T T {8 4yay7 40 41 81
67T Bl BRA ANTANY 40 41 81
67T ZiE _&HEE TAI—=R 39 42 81
67T WEH M B;ET),7 39 42 81
67T 8 Eft HERDFE 39 42 81
67T FH 5 38 43 81
67T Rl K2 YRDIYP] 37 44 81
81T R EE =L+ 43 39 82
81T 5i5 A t#pE 43 39 82
81T FAE & 7< B = 42 40 82
81T Hy HE 4yay7 41 41 82
81T BA ME I—h-A—)L 41 41 82
81T SR EE 4V t=h 40 42 82
81T hE X t#pE 40 42 82
81T EE TS £#H2Y 40 42 82
81T A #h 7<= 40 42 82
81T 55 KF TAG—R 40 42 82
81T b BE YRDIYP, 40 42 82
92T RE B HIRDFHZ 44 39 83
92T WA figE t#pE 43 40 83
92T EL B 1€ [B1 ER 42 41 83
92T LtH FF FEEINT 42 41 83
92T hH & P 42 41 83
92T 1 BEE KEIILT 41 42 83
92T BEH X R=IR 41 42 83
92T NS E RE/& 41 42 83
92T ®E ES YRDIYP, 40 43 83
92T hix B4 t#pE 40 43 83
92T INE ] LAY 40 43 83
103T RE FB{Z IEERS - 45 39 84
103T FIL BE PANG Al o 45 39 84
103T IR SN Tyl 42 42 84
103T EJNIE T fif] L1 22 42 42 84
103T X5 BS YRDIYP, 42 42 84
103T WA fB— IEERS - 41 43 84
103T FAI3Z = PUER 5yay7’ 41 43 84
103T Z A TAG—R 41 43 84
103T a7 & =R 41 43 84
103T Faft #XER ANTANY 40 44 84
103T =M FEA DI ] 40 44 84

2/3R—=2




103T A BaE JIuNt=h 40 44 84
103T HE & 7=Jb 40 44 84
103T I B 40 44 84
103T £H E £HIY 39 45 84
103T Bl BX 7=Jb 37 47 84
119T FE K% fif] LI 22 % 46 39 85
119T L S fif] LI 22 % 44 41 85
119T A R EEMN 43 42 85
119T i bREE SN T 1)yl 42 43 85
119T Hh i £#H2Y 41 44 85
119T hE &AM 7=k 40 45 85
119T BEA TF N UYLV 40 45 85
119T HH g £HIY 40 45 85
119T 2l 5E— d#E 39 46 85
128T Flll &R £#H2Y 46 40 86
128T 2R Rt R 45 41 86
128T ARE BE =)k 42 44 86
128T FEPNE BERmE 41 45 86
128T SITEESS EEiH 41 45 86
128T ¥ —5 USPIY ] 38 48 86
128T BH B I—b-A—) 38 48 86
135T =R —# HENTYYY 44 43 87
135T FH A BEHEE 43 44 87
135T B XE =R 43 44 87
135T AH# £ SN 7yl 41 46 87
135T a8l BEE 4V t=h 41 46 87
135T gl ¥R 4yay7 40 47 87
135T hil &3 I—hA—L 40 47 87
135T hF JE I-h-A-) 40 47 87
143T &2 kiF =SNYARY 45 43 88
143T NS 7<= 44 44 88
143T EEH e SN T vl 43 45 88
143T Al B2 KEI NI 43 45 88
147T FEK B KFIN7 47 42 89
147T KR =i KEI NI 45 44 89
147T 2 [BZ HRE/E 45 44 89
147T WH EE KFII7 45 44 89
147T <H B SNT Yyl 44 45 89
147T Hg &= HERDFE 44 45 89
147T ENCE S 4V t=h 40 49 89
154T INGE {RER BET),7 48 42 90
154T B RE FEEINT 47 43 90
154T 8 BX I—k-A—) 47 43 90
154T 2 [ER D5 0hUb)- 43 47 90
154T o8 BEZ KERN7 vl 42 48 90
154T =iE & 1€ [B1 ER 42 48 90
160T HiE FA YA4-R 47 44 91
160T KL FE YA4-R 43 48 91
162 Bl RE KXFIN7 44 48 92
163T A B KEIILT 47 46 93
163T g FE KEINT 46 47 93
163T JIF ZES8 £HIY 45 48 93
166 =8 E2Z BEHmE 49 45 94
167 BHE Eh LAY 44 51 95
168T AE BhiE BiET)7 49 47 96
168T b BE LAY 47 49 96
170 RKE IFEAXHER pNOWATY 47 50 97
171 Hep == HBERE 52 48 100
ZiE Bk A= =R — - -

3/3R—=T




